SEM-50WGB-AAA-O

PITT Qube

O8fidFERCEESTEIEDNHYET,
CERHIBIEREA DM X,

RAREHRORTIZITo>TEY £ A

OXRTEGISHER T EN TS Y FEA,

WL

2025/03/31 16:46:40

Copyright(c) KOSHIN Ltd. All Rights Reserved.



PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

SEM-50WGB-AAA-O

OBMEFERCERTSIENHY T,

OERHIBIEREA DM X

No. & mf B - ME B Eff =B
1 011526603  |[SE-50W & ¥7° 1-2 ADC 1 8,500
2 011526503  |SE-50WIR A757%" (PS) ADC 1 2,900
3 011520301  [SE-50W Fvu¥n 7" NBR 1 900((N)
4 011526701  |SE-50W F¢y¥n 17" 7° b=} SPHC T=1.2 [1 200|(N)
5 703319075  [+=RAFHAT NG 5 M4 x1 0SW |2 200|(N)
RM
6 011520201  |SE-50WIR A4 O0 Y >~ & NBR 1 500((N)
7 011544903  [SE-50W 25/50MH 75~ P(G) ADC 1 4,000
8 011520101  |SE-50WrtH A0 Y >~ & NBR 1 600|(N)
9 011807802 [20A7S5 44 3 2 600[PA-156(4971770-102156)
10 [|743119046  [MAN FIZRESEANAT Wb M8x2 2 12 200((N)
SWRM
11 011257907  [SE-50X 759" 7 349h ADC 1 5,100
12  |011353304 [SE-50X-1 i@%&= ADC 1 2,700
13 |011353202 [SE-50X-1 1yA°3 FC 1 2,600
14  [012719101 [SEM-50WGB R—2Z 7 X Loy 1 8,900
15 [012230701 [SEfl&OHA R/RXRILSRIL Ha-prhay (1 300|(N)
+PET
16 |011046601 [|SE-50L 1yA° 358%EE0yy4- BSPT=0.3 |3 200((N)
17 |012270802 |[GB13GPN-0701Iy% Y 4449)) 1 0
18 |011068804  [SE-50L xh=hhy-h T CARBON 1 2,900
CERAMIC ¢ 1
8
19 |012800501  [SE-5O#AET/99Fhv7° Yyy™ 43 2 4,800(20~23
20 012021102  [RRghanyyAik(2") PA 2 1,100
21 011800301  [#REHANYIFTDF /b1 -{2" 2 2,900
22  [012047901  [SE-50 hamyin vy (YN 1) NBR 2 600[011348701 [& (N)

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/31 16:46:40




SEM-50WGB-AAA-0
O&BfMEFERKEESTHIEADYET,
OERHEIFIRBEA DAY £,

PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

No. mE & - HME B Eff e
23 |012021301  |#Bshany)AfRn v4y(2") NBR 2 500((N)
24  [011835001  [SE-50X A/ -F-53(WY¥) PP+FC 1 3,100
25  |940019060  [f-an" Vb ¢ 60 3 300|(N)
26 |034078101  [SM-25 #97° vy ABS 1 400|(N)
27 (034078201 [SM-257TDFzy7° I ABS 1 300
28  |034006501  [SM-25 #y7°Yys" n° vy CR 1 300|(N)
29 (034078401 [SM-25 25X15%5/3=97° b ABS 1 300
30 |034078301 [SM-25 25X20TDFz97° I ABS 1 300
31 940019032  [f-an" yF $32 1 200((N)
32 |940019026  |H-an Vb 26 1 200((N)
33 940019022  [f-an" yp 922 1 200((N)
34 |011742303 [SE-501kK*+ v 74 X (25/50) 1 800
35 |012277001 [SEM-50WGB-AAA-O88#R 1 200((N)
36 [011501401 [OYyy” 1517-425 |1 500|(N)

NBR
37 011279201 [oyvy P54 NBR 1 O|(N)
38 |743119051  [MAN FiEtaEESEANET b M8x35 4 200((N)
SWRM
39 734532076  |[NETASRIL b M8x60 SCM |4 200((N)
40 [827419008 |~NEF v b M8 15&d (4 200((N)
SWRM
41 854255008  [-W7vy+ ¢ 8 4 200((N)
42  |889955025 |OUv4" G25 NBR 2 200((N)
00 012013704  |SEFISCEH@ENIRERBAE /44190 A4 P12 1 O[(N)
00 012277201 [SEM-50WGB-AAABY S+ 15E4E A4 B K |1 200

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/31 16:46:40



